
अनुसुची १ 
!  dfnkf]t b:t'/ 

# /f]kgL;Dd ?= #) / # /f]kgLeGbf a9Lsf] nflu k|lt/f]kgL ?= & 

@  3/ s/ 

qm=;      3/sf] agfj6 cfjfl;o k|of]hg  Jofkfl/s k|of]hg 

! 9'+uf, df6f]sf] h8fg / v/sf] 5fgf] 

ePsf] 3/  

50  

@ 9'+uf, df6f]sf] h8fg l6g jf 9'+ufsf] 5fgf] 

ePsf] 3/  

150 200 

# 9'+uf, l;d]G6 jf O6f, l;d]G6sf] h8fg 

;lxtsf] kSsL 3/ 

300 400 

    

# Joj;fo btf{÷gljs/0f z'Ns 

ufpFkflnsfdf ;j} k|sf/sf Joj;fo ;'lrs[t ug]{ z'Ns   M ? %)) 

ufpFkflnsfdf ;j} k|sf/sf Joj;fosf] gljs/0f ug]{ z'Ns   M ? %)) 

3'DtLk;n z'Ns k|lt lbg      M ? !)) 

d]l8sn tyf cf}iflwhGo Jojfo     M ? !))) 

 

$= l;kmfl/; b:t'/ M 

;j} k|sf/sf l;kmfl/;, d'r'Nsf, gftf k|dfl0ft l;kmfl/;  M ? @%) 

kl~hs/0f hl/jfgf 

ljjfx btf{        M ? %)) 

j;fO{ ;/fO{ l;kmfl/;       M ? !))) 

hGdbtf{   M ? !%) 

hGdbtf{ -k|ltlnkL_  M ? @)) 

;fdfGo l;kmfl/;  M ? !%) 

cGo l;kmfl/;   M ? #)) 



gful/stf k|ltlnkL l;kmfl/; M ? #)) 

d[To" btf{ k|df0fkq  M ? !%) 

k|ltlnlk        M ? @)) 

rf/lsNnf l;kmfl/;       M ? %)) 

3/hUuf d'NofÍg ? % nfv;Dd     M ? %)) 

To;kl5 k|ltnfv      M ? !)) 

%= b/vf:t b:t'/ M 

sfof{no ;xof]uL       M ? @)) 

vl/bf/ ;/x        M ? %)) 

gf;' ;/x        M ? &)) 

clws[t ;/x        M ? !))) 

^= gbLhGo kbfy{jf6 9'Ëf lu§L jfn'jf -k|lt So"lkm6_   M ? $ 

&= dgf]/~hg÷ko{6g z'Ns -k|ltJolQm_    M ? @)  

* ljljw 

qm=;+= ljj/0f /sd ?= 

1 3/ gS;f kf; -ahf/ If]q_ 1000 

2 3/ gS;f kf; ufpF If]q - kSsL 3/_ 500 

3 3/ gS;f kf; ufpFdf sRrL 3/ 200 

4 cNnf] lgsf;L -k|lt lsnf]_ 3 

5 nf]Stf lgsf;L -k|lt lsnf]_ 3 

6 l;:gf]sf] w'nf] lgsf;L -k|lt lsnf]_ 2 

7 cn}rL lgsf;L -k|lt lsnf]_ 5 

8 lr/fOtf], l6d'/, sfpnf]sf] af]qmf h:tf jghGo hl8a'6L vl/bstf{ -

k|lt lsnf]_ 

2 

9 sjf8L ;+sng k|lt l6«k 500 

10 vf]6f] ;+sng -k|lt l6g_ 25 

11 sf7÷s'sf7 -k|lt 6«ofS6/÷6«s_ 1000÷3000 

12 ljB't ld6/ h8fg l;kmfl/; 300 

13 ;efxnsf] xnef8f :yflgo 1000 

14 ;efxnsf] xnef8f afXo 1500 



15 a}+s -s / v ju{_ ;'lrs[t÷gljs/0f 15000÷5000 

16 n3'ljQ ;'lrs[t÷gljs/0f 10000÷3000 

17 ;xsf/L btf{÷gljs/0f 2000÷500 

18 s[ifL ;xsf/L btf{÷gljs/0f 1000÷300 

19 lglh ljBfno -dflj:t/_ 3000 

20 lglh ljBfno -cfwf/e't:t/_ 1500 

21 lglh ljBfno -k|flj:t/_ 1000 

22 u}/ ;/sf/L ;:Yff ;'lrs[t 1000 

23 3 ju{sf] Ohfht kq btf{ 25000 

24 3 ju{sf] Ohfht kq gljs/0f 12000 

25 3 ju{sf] Ohfht kq ljnDj z'Ns 8000 

 

 


